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Total Questions 100 

No Negative Marking 

 

MATHEMATICS SECTION (40 Questions)  

Question: A worker is paid Rs.15 per hour for an eight hour day, and Rs.20 for each 

additional hour, if the worker received Rs.200 for a day, how long did he worked that 

day 

A. 16 hrs  

B. 4hrs.  

C. 12hrs  

D. 18 hrs 

E. none of the above  

The correct answer is (B)  

Question: Along the straight line the slope is always 

A Positive  

B Negative  

C Constant  

D infinite 

E none of the above 

Correct Answer: C 

Question: What is 50% of 50% of 100? 

A. 50% 

B. 25% 

C. 75% 

D. 35% 

E. None of the above  

 

Correct answer: B 

ENGLISH SECTION (15 Questions) 

Question: A state in which one can see, hear, feel, smell, and taste little or nothing is 

known as ___________ deprivation 

A. Aggregate 

B. Subversive 

C. Sensory 

D. Sensual 

E. None of the above 

 

Correct Answer: C 



 

Question: As the market becomes ________ competitive, some companies will make 

larger profits 

A. Well 

B. More 

C. Less 

D. Fully 

E. None of the above 

 

Correct Answer: B 

SYNONYMS - Choose the word that is nearest in meaning to the word in capital letters (15 

Questions)  

Question: EMINENT 

A. clever 

B. ambitious 

C. cunning 

D. famous 

E. none of the above 

 

Correct Answer: D 

ANTONYMS - Choose the word that is most nearly opposite in meaning to the word in 

capital letters (15 Questions)  

Question: TRANSPARENT 

A. colored 

B. obvious 

C. weak 

D. dark 

E. none of the above 

 

Correct Answer: D  

CHOOSE THE SUITABLE ARTICLE (A, AN THE) FOR THE FOLLOWING 

QUESTIONS (15 Questions)  

Question: This in not _____kind of product that a consumer will use only once.  

A. A 

B. An 

C. The 

D. All of the above 



E. None of the above 

 

Correct Answer: C 

 

 


